Proficiency Scale of SEP6 with Example DCI Content Standards

Proficiency Scale for SEP6 Constructing Explanations

SEP6 Constructing Explanations
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Exceeds Meets Proficiency Approaching Developing
In addition to proficiency, | I can construct explanations using all success criteria I can construct I attempt to
I can make connections to [J Accuracy of claim explanations construct
unfamiliar contexts [J Accurate & relevant evidence (qualitative and/or using some explanations
and/or related science quantitative) success criteria

concepts . S
P [J Accurately reasons with scientific content (DCI)

Standard/DCI: Add Standard or DCI here
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Part 4- CER Moth DNA to Protein
SEP6: Constructing Explanations
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I can construct an explanation for a
scientific phenomenon using all
success criteria in unfamiliar contexts
AND/OR making connections to related
science concepts

I can construct an explanation for a sMomenon using all success criteria in
familiar contexts
e  Accuracy of claim (e.g., qualitative or quantitative)
e Evidence is accurate and relevant (e.g., specific, in context, trends and patterns)
e Accurately applies scientific reasoning to support the claim (ELO Content)

| can construct an
explanation for a
scientific
phenomenon using
some success criteria
in familiar contexts

| can construct an
explanation for a
scientific
phenomenon in
familiar contexts
with support

ELOG6: Construct an explanation based on evidence that the structure of DNA and chromosomes code for the s

expressed as a trait that is passed from parent to offspring.

Driving Question: What caused phenotypic variation in the moth population?

tructure of a protein, which carry out essential functions of life,
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